a(3 ) (rad)
a(d cot(B))

107Y%=1:: 1074+

1072

TTTTT]
>
TTTTT]

1.z

Ratio

1.1

._
LALANARAFLARAN ALAL]
X
=

3 -
% ;

3
o
2
=
s
2

TT T T T TTTT

Ul et LT T TR

2
e
T

iy

At ”?"nr'ﬁwﬂ » : O-9SEMITHIE . ; : :
0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
W[

|
N

|
=

-~ 1 —
IS E- IS

e Coy S

i 5

° L I : : i <

© | . . . ©

1071 4 ll: SEH- EEA: el e

i CUTEET B | EESL FEaL

L0V B e

LTSI Ee T

- - - .: i .‘

Qlolzlllll o102k AU L L AL
= L osEN I A : I
e “OHITE il g 1 It

EHHRLE Al e Tl L 2 ;

E A L4 o q | d
oo e ERT R TR : TTRTTETRRITTCRTT
0.9E izl [ i L J 0.9L | A q L |

2 -1 0 1 2 3 23 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

107}

1.z

Ratio

1.1

iy

|©
WMl

o
«

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


